Urcete definiéni obor funkce:

| fiy =t
.f.y—|x|_3
x—3
2.f:y=xz_4
x? — 2x
3.f:y—x2_x_2
x+4
4. fry= -
x—1
> fiy= x+1
6. fry =+/x%2—-8x+12
7. fry=+(x+2)?
8. fiy= !
Sy Vxz —2x+1
9 f —1
iy =
Vx(x—7)
10.f:y=10gx
11, fiy = log(x? — 36)
Y T e —Tox + 21
4x —x* -3

12. fry =log—=em 7

13. fry =+/x2 =9 +log(7 — x)




Vysledky:
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D(f) =R\ {-3;3}
D(f) =R\ {-2;2}
D(f) =R\ {-1;2}
D(f) =(-41)

D(f) = (1; )

D(f) = (—90;2) U (6; )
D(f) =R

D(f) = R\ {1}

D(f) = (=0;0) U (7; )

. D(f) = (0; 1) U (1; 00)

. D(f) = (—90; —6) U (7; )
. D(f) = (1;3)

. D(f) = (=0, =3) U (3;7)
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. D(f) = U<kn; %+ kn)
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